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Suppose good 1 is taken on horizontal axis and good 2 on vertical axis, then what happens to the budget line if the price of good 1 doubl
and price of good 2 triples?

. The budget line becomes steeper
. The budget line becomes flatter
1
1

L2 =

. The budget line become vertical
. The budget line remains unchanged
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Objective Question

52 |1901002 Suppose that a scarce resource, facing a constant demand. will be exhausted in 10 years. If an alternative resource will be available at a

price of $40 and if the interest rate is 10%. what must be the price of the scarce resource today -

. $55.50
. $35.60

3.$24.40

4.$15.42
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33901003/ which one of the following is not a characteristic of market structure?

. Degree of buyers' concentration
. Degree of Sellers' concentration
. Conditions of entry
Fertical infegration
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Objective Question

341901004 ' yyich of the following is not true in the ease of second theorem of welfare economics?

1. If consumers exhibit convex preferences. every pareto efficient allocation is a possible competitive equilibrium in a pure exchange
economy.

. In an economy involving production. the convexity of production sets ensures that a pareto efficient allocation can be achieved as ¢
market equilibrium.

. It holds when there are increasing returns to scale.

. It implies that in the market system. the allocative role and the distributive role can be separated from each other.
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35 |P01005 Taylor's Rule tells.

. how monetary authority sets interest rate in response to economic activity
. how monetary authority maintains bank rate

. how monetary authority maintains exchange rate

. how government decides the tax rate to inerease the tax base.
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Objective Question

36 11901006 Monetary base of an economy is,

. Amount of currency held by public and by the banks as reserves.
. Amount of currency held by public and demand deposits.
Amount of currency held by public and time deposits.

. Currency deposit ratio.
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: i 2oy | i ;
Given the income multiplier formula m = Toape lower the marginal propensity to save,

. Higher will be the multiplier effect
. Lower will be the multiplier effect
. Multiplier will become infinite

. Multiplier will become zero
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Objective Question

38 1901008 1; the national income identity Y = C + I+ G, investment (I) is a function of.

1. Real Income

2. Nominal Income

3. Real Interest Rate

4, Nominal Interest Rate
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Which one of the following is not correct about LM schedule?

. The LM schedule slopes upward to the right.

. The LM schedule will be relatively flat (steep) if the interest elasticity of money demand is relatively high (low).

. The LM schedule will shift downward (upward) to the right (left) with an increase (decrease) in the quantity of money.

. The LM schedule is the schedule giving the combinations of values of investment and interest rate that produce equilibrium in the
money market.
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Objective Question

60 901010 ' The merchant's file of 20 accounts contains 6 delinquent and 14 non-delinquent accounts. An auditor randomly selects 5 of these accoun
for examination. What is the probability that the auditor finds exactly 2 delinquent cases?
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0.3
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.0.4526
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61 01011} o company has 140 employees. of which 30 are supervisors. 80 of the employees are married. and 20% of the married employee are

supervisors. If a company employee is randomly selected, what is the probability that the employee is married and is a supervisor?

1.0.1531
2.0.1253

3.0.0923

4.0.1143
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Objective Question

62 901012 The Hausman's specification error test is used to test whether

1. An exogenous variable is correlated with the error term.

2. An endogenous variable is correlated with the error term.

3. Both an exogenous variable is correlated with the error term and an endogenous variable is correlated with the error term.
4. OLS method is appropriate to estimate the SEM.
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In random walk without drift,

. The effect of shock persists throughout the time period.
. The effect of shock in the past dies out over time.

. The effect of shock drifts away quickly.

. There is no effect of past shock.
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Objective Question

64 901014/ Given below are the alternative formulae for F-test statistics. We are interested in testing the statistical significance of the incremental
contribution of X3 at 5% level of significance to ¥'= fy + B;.X] + f-X; + U. Which of these 1s not appropriate? Where RSS is residual sur

of square and ESS is explained sum of square.
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65 901015

66 901016
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Objective Question
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Find the extremum of u = x2 +17 + 2% subject tox + y +z = 1.

1. (%.7.%) |%%%J
2. {T.?.E]-::%.%.%]
3. (x.7.7)- [ﬂi}%
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Objective Question

67 901017 e utility function of a consumer is given by U=f(gy. g2) = g1 - g5. suppose the price of g is Py1=1 and price of g,is p =2 The
consumer wants to spend amount of & units only what will be his demand for g; and g,?
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68 1901018

69 1901019

70 1901020

Objective Question

A tariff ridden offer curve will bend towards.

1. Import good axis

2. Export good axis

. Origin

. Any of the above 1s possible
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Objective Question

Factor price equalization theorem is given by,

1. David Ricardo
2.1.8. Mill

. Paul Samuelson
4. Adam Smith
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In which of the following year IMF has set up the Extended Fund Facility (EFF) to support member's structural reforms to address balan
of payment difficulties of a long term character.

. 1974
. 1997
. 1963
4. 2009
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Objective Question

71901021 The pook entitled. "Why Nations Fail: The Origin of Power. Prosperity and Poverty" has been written by,

. Abhijit Banerjee

. Daron Acemoglu and James A. Robinson
. Amartya Sen

. Joseph Stiglitz
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A foreign exchange swap is

. a spot purchase of a currency combined with a forward repurchase of that currency.
. a spot sale of a currency combined with a forward repurchase of that currency.

. sale and purchase of a currency in forward market.

. purchase of a currency in spot market.
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Objective Question

731901023 which of following is a correct measure of gross fiseal deficit of the state government.

. Revenue Expenditure (RE) + Capital disbursement — Revenue Receipts (RR)
. RE + Repayment of loans to the Centre — RR

. Revenue Deficit + Capital Outlays + Net Lending

. RE + Discharge of Internal Debt — RR.
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Which of the following is not true in case of incidence of tax :

. Imposition of tax raises price and lowers quantity.

. The resulting price increase of tax rise will be dampened if the tax is imposed in monopolistic market.

. One would be in a better position to avoid the tax and leave the seller with a larger part if demand is inelastic while supply is elasti
. A unit tax enters through a parallel upward shift in the supply schedule.
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Objective Question

75901025 \hen MPS is 0.25 and initial increase in autonomons spending 1s Rs. 100, then the expenditure multiplier and resultant increase in GDF
respectively are :

1. 1.Rs. 100
2.0.75.Rs. 75
3. 4. Rs. 400
4.1.33,Rs. 133

e TH UT T 0.25 SR WA @9 H IR i 100 2. 8 1 @4 uiid 3R off si 4t & aRom 9is o gl

1. 1. 100%.
2.0.75; 75%.
. 4.400%,
. 1.33,133 %.
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Objective Question
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In the extreme case of liquidity trap

. There will be tendency to buy bonds

. Most of the investors will show bearish behaviour
. Cash will be less preferred

. Price of the bond will be low
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Objective Question

771901027 which of the following can be an equation representing the money market

.300=2Y-1.5i
i=150-¥
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Li=(150-21)12
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With the same monetary base, which of the following will lead to an increase in broad money?

1. High transaction cost of converting deposit into cash
2. Higher investment under SLR

3. Higher use of cash

4. Increase in financial literacy and banking habit
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Objective Question

79 |1901029 According to Robinson the term 'Golden Age' in the context of Harrod-Domar model is used to emphasize

1. Its mythical nature

2. Tts superiority

. Natural growth rate

4. Warranted growth rate
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Which is not a dimension of Human Development Index (HDI)?

. Ability to lead a long and healthy life

. Ability to acquire knowledge

. Ability to achieve decent standard of living
. Ability to access clean environment
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Objective Question

81 1901031 The jdea of creative destruction is associated with

. Marx

. Adam Smith
3. Ricardo

4. Schumpeter
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Normalized Poverty Gap (NPG) is measured as a ratio of

. Average Poverty Gap to poverty line

. Total Poverty Gap to poverty line

. Total Poverty Gap to total population

. Average Poverty Gap to total population
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Objective Question

83 1901033 which of the following defines ambient standards in an environmental policy

. a standard that specifies a pollution limit to be achieved but does not stipulate the technology.

. a standard that designates the equipment or method to be used to achieve some abatement level.
3. a standard that designates the quality level of some element of the environment to be achieved.
4. none of the above.
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Which of the following applies to the physical linkage approach for the valuation of environmental benefits

. methods that assess responses immediately related to environmental changes.

. methods that examine responses not about the environmental good itself but some set of market conditions related to it.

. methods that estimate benefits using observations of behavior in actual markets.

. methods that estimate benefits based on a technical relationship between an environmental resource and the user of that resource.

ﬁﬁ%@aﬁﬁﬁqmmﬁwﬂumaﬁ%q@W%m%mqmwwmm%”

R R

1. 9 @i Sl yaiaRuiig uRad-! & Heiid TR &1 deb T Gedish By |

2. 4RI Sl GuiaRul § 31 g% 1 el afcen sud Yas areR gRiRagT & aR o ulafsearsi &1 oid o

3. 4 oRiep ol T SGR| H &vdra &1 fewivrd| &1 Serdl 3 Wrael &1 3HH el 8l |

4. 9 ORI Sl o] vaiaRUiTg SHIeE SR 39 SH1Y & YA & &ld & dob-1e] YaY & YR IR BIa4] 1 3T TTd 8l

Al

A2
A3

A4

4

Objective Question

85 |Po1035 Why subsidies are not an effective policy instrument in the long-run for internalizing externalities under competitive output markets?

1. a subsidy that is equal to marginal damages translates to a de facto decrease in firm's fixed costs.
2. subsidy payments are available to all firms and can induce excessive market entry.

3. the level of industrial production in the sector would exceed the soecially desired level.

4. All of the above

yfoeget g SRl & i SrRIdst @ Sfd. THAR B & (o¢ aiaft § afeaet gHdT Tifard o Tl 82

1. SfegS! HOrd THYH & aXSR 8idl § off arad § BH & Fyikd armdl 8 S St g
2. oS! H7Tar w1 Wl & o7y Sueis i § Sl RIS STSIR Ha=1 1 4R &R ¥ § |
3.59 &3 1 Slieifiie 3auiE &1 TR IHIoe =9 ¥ gifed TR &1 IR $2 g

4, udaa wt

1
A2 5
2

A3 3
3
Ay
4

Objective Question
86 1901036
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According to Sample Registration System. which of the following Indian States has the highest level of life time risk during 2018-2020.

1. Bihar

2. Uttar Pradesh

. Madhya Pradesh
. Chhatisgarh

TfiE Rl IOl UM & SUR Fafiied & ¥ YR & B U o9 BT 2018-2020 F SR SS1aT Siigd TR 9689 91 82

S P

1. feER

2. W USH
3. 90 Ued
4. BTG

Al
A2
A3
A4

Objective Question

87 901037 The Intensive Agriculture District Programme (IADP) was launched in the year

. 1960-61
.1961-62
. 1962-63
. 1963-64

T fore SN SRiwH (31 U St ) &f 53 avf & R fopar mar

e L D

. 1960-61
. 1961-62
. 1962-63
. 1963-64

P

Al
:A2
A3
A4

Objective Question
88 /901038
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Allocation of budget for Ministry of Agriculture and Farmers' Welfare in the Union Budget 2023-24 i

1. 2.25 lakh crores
2. 1.25 lakh crores
. 1.78 lakh crores
. 1.68 lakh crores

B2 gee 2023-24 T SN Ud [HUH S0 43109 g afed 31 1Tg A1 82

S PV

225 A IS
L 1.25 A BRS
. 1.78 ARG RIS
. 1.68 ARG TBRIS

S

S V)

Al

A2

A3

A4

Objective Question

89 1901039 : .
What is the motto of G-20 18% meeting?

. One Earth, One Family. One Future
. One Earth, One Nature. One Life

. One World, One Family. One Life

. One Earth, One Nature. One Future

Sit-20 & 18 3 GG BT 1SR 919 (HIE) T 82

a =

S Y]

1. U gl, U URAR, U Hias
2. U Yl U Upid, U Gila
3. U [d%, T URAR, TS Silad
4. T g, UH YPHld. U Hids

I'Al
{%2
.A3
.A4

Objective Question
90 901040
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Prevention of Money Laundering Act was enacted in the year

2001
2002
. 2003
. 2004

¥ ¢ B ADUTH (A=A AT T qif) ife-mm &l fow au o siffafia o mar ur

o

S P

2001
2002
2003
2004

E=

L

Al
A2
A3

Ay

4

Objective Question 7_
o1 1901041 which of the following holds for Bertrand's Duopoly model.

A. The reaction curves are derived from isoprofit maps which are convex to the axes.
B. The point of intersection of the two reaction curves reflects a stable equilibrium.

C. The reaction curves are derived from isoprofit maps which are concave to the axes.
D. The point of intersection of the two reaction curves reflects an unstable equilibrium.
E. Firm's behavioral pattern is such that they learn from past experience.

Choose the correct answer from the option given below :

A and B only
. C and D only
.A.DandE only
.B. C and E only

Piaffed 3 & o aEs gl Hisa & R ad 3

A. Ufafepar ad @ gaary OFRE S Ui il § off 38 & g gl
B. 31 Ufdifsha adb T@iall &1 Ufdws g fdg o B <% &l JUidI &

c. faforan adb T@IE FHaY AT 9 U gt @ i 3ieff & ufadpd gidl g |
D. 3 Ufcifshan aeb T3l o1 Uid=g fdg SRR qa oI quiar g |

E. BH &1 UdgR dael Ue U o d fasnd srvd 4 JiEd g1

A feu T faedl § 9 98! SR &1 994 pifoy : |

B

1. $ad A NRB
2.%gda C AR D
3. PIAA. D IRE
4. %au B, C ARE

Al

1
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A2

A3

A4

4
Objective Question

921901042 which of the following is true for the Clark-Wicksteed-Walras product exhaustion theorem

A. The assumption of a homogeneous production function is necessary.

B. It is an identity that holds for all values of the variables.

C. The assumption of a homogeneous production function is not necessary.

D. It is not an identity since it holds only for the values of the variables in the long-run equilibrium.
E. It holds for all types of production functions.

Choose the correct answer from the option given below :

Aand B only
. Aand D only
3.B.CandE only
4. C.D and E only

FATP-[AFIS-aTeRd & Id1S &1 &IRT & R # Hgfofad 8 9 -1 981 82

A. GER=TUI IdTe UHTd S SR gD gl

B. U8 U UgdH & Wil @RI & JHE UidHHI & U ggi g1

C. GH=U1 Iad1e UHTd P SR SaR0® g ¢ |

D. U8 U® UgdH "ol § adid I eraiaieid Sqer 7 WiaHrl & o8 of 9ol 8|
E. 98 94l yoR & S Ue Tl & fae 98l o |

< feu T f[dd el O T Ul SR &1 94 &Ifofl : |

b =

1. $ad A 3RB
2. A A 3RD
3. %adB. C IRE
4. $FAC, D IAIRE

Al
A2
A3
A4

4

Objective Question
93 1901043
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Properties of expenditure function are (in the context of utility theory).

. Homogeneous of degree one in price, P

. Strictly increasing in utility, u and non-decreasing in price, P for any good L.
. Concave in P

. Continuous in P and u

. Strictly convex in P

Mmoo wpe

Choose the correct answer from the option given below :

1
2
3. :
4.B.C.D,E only

o YT (IUfial fsid & g H) S o g -

A. BITd P H =G B Uil T

B. [¥ 9% | & T IuEifTar o & 9uia: S¢d o8 § iR ®iad p § 7 ge arelt
C.PH 3faqd

D. P 3R o ¥ gz

E.PH gUfq: S0

A feu e fowed! ¥ 96l SR &1 99 Do - |

1. $9T A, C.D.E
2. %90 A, B.D.E
3. $9AA.B.C.D
4. %ddB,C.D.E

Al

A2
A3

A4

4
Objective Question

94 1901044 11, coneept of "excess sensitivity” and "excess smoothness" are explained by following statement(s).

. 'Excess sensitivity' refers to a situation where consumption over responds to temporary income shocks.

. 'Excess smoothness' refers to a situation where consumption under responds to temporary income changes.

. With excess sensitivity. anticipated rise in income is associated with relatively small change in consumption.

. With excess smoothness, changes in aggregate income are associated with relatively large changes in aggregate consumption.
. 'Excess sensitivity' and 'Excess smoothness' are related to the empirical evidences of permanent income hypothesis.

mgowpe

Choose the correct answer from the option given below :

.A.B.C.D only
.A.B.C.E only
.A.B.D only
.A.B.E only

b =

Lo
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fFafafaa o 9 59 $u=l g1 aga SaaTsiiaar R 'Sgd Tl S SayRuNS] $1 1= 8l ©

A T50 Gog-RITAdT a8 3T § Sie! @ud SRt 3 uRadHl ¥ st waifad giedt )

B. ‘g0 GTHAT T8 a1 § oTel Wud SR 37 uRad=1 § &8 gyIfad gl 81

C. 989 YaeARiadT HT & Ynfid gis &1 Yeu @ud § 91de 0 § 19 arar g gRkadq 2|

D. S5 JHAI & BRUT HHd 319 § §iH aTal uikad-i &l Ja¢ @ud § 9Ue &0 9 giF ald oaT9® gRad-l 9 g
E. ‘950 Sdeadr 3R 9gd GIHar & Hae Rl o1 Uide - & JaTiyd e 9 g

14 fau e faoedl & 9 961 SR &1 987 DIy -

1.®Pdd A, B.C.D
2. ®dd A, B.C.E
3. ®dd A, B.D
4. Pad A, B.E

ALy
1
A2 5
2

3
Ay
4

Objective Question

95 |[01045 According to Tobin's Q theory of investment, when should a firm invest?

. there is increase in the price of output

. there is an inerease in marginal product of capital

. there is an increase in rate of interest

. there is a decrease in rate of depreciation

. marginal benefit of investment exceeds marginal cost

mgowpe

Choose the correct answer from the option given below :

.B.C,D,E only
.A.C.D.E only
.A.B.D.E only
.A.B.C.D only

Faw & eifed Q Riaid & SuR. ol B 3l (49w P &1 A8y 2

A. 9 ARG Bl BT H RS 7

B. v/d Joit & Fora ST A S &

C. SE s R A A& gl

D. Jd @ g &R H PHI gl

E. oig (a1 o1 i ary diaia arma 9 eiftie o

b =

e

e fau U fasedl § | Hel 3R &1 90 SIfey : |

1. $9dB.C.D.E
2. $GA A, C.D.E
3. $a0A.B.D.E
4. BAdAA.B.C.D
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Al
A2
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A4
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A3
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Objective Question

96 1901046 which of the following is/are true about paradox of thrift?

A. Paradox of thrift was popularized by I. M. Keynes.

B. It states that personal savings can be detrimental to overall economic growth.
C. It shows the relationship between output growth and rate of unemployment.
D. It shows the relationship between inflation and rate of interest.

E. It states that individuals saving during an economic recession leads to fall in aggregate demand.

Choose the correct answer from the option given below :

.A.B. Conly
.B.C.D only
.C.D.E only
.A.B.E only

B

g Ry » eR & Fefif@d f 3 S8 o &2

A, [idorg- ey &1 o UH. DI A dihbg §-7a7 U]

B. 3Ud 30 ¢ & sufaarra a9 9w Sftfe (9@ & (o ame g

C. 39H 3G giG SR SRISAIR] & & &< & Hae DI G211 Sl 6

D. 598 &I Wifq 3iR o011 & & a9 & e I aiiar ol ¢

E. 394 3oord & o anfifes 1) & SR aafaaerd s9d & SR siigd a7 | ot et 81

- fag e faw el § I el SR &1 997 Sifoy -

1.®Pdd A, B.C
2.®dd B, C.D
3.%dd C.D.E
4. Pad A, B.E

4

Objective Question
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The BOP crisis of early 19905 made India borrow from the IMF which came on following conditions

A. Devaluation of rupee by 22%

B. Drastic custom cut to a peak duty of 30% from the erstwhile level of 130% for all goods
C. Consolidation of all indirect taxes into one tax

D. Excise duty to be increased by 20% to neutralize the loss of revenue due to custom cut
E. Government expenditure to be cut by 10% per annum.

Choose the correct answer from the option given below :

L

.C.D.E.Aonly
4. A, B.D.E only

1900 & ER1& & Yary T YIAH JqeH (BOP) Hdbe & Iaid HRd Bl FEfiRad Ydl W SaRIpia gare iy 3 SUR d-1 Us]

A ST BT 22% AT

B. Tt TR 3T & T 130% & TB AT TR 9 30% TR FoAaqq e H a1 Yo T 1:1 FHerd

C. gt 3 BRI BT TP PR H SHAT

D. I Y@ Heldl $ HRUN IS g1¢ D FHiSha 3 & [y Ias Yo T 20% Pi i B S |
E. WRPRI T H 10% TS BI Sl oI S|

+id fau U fasedl O 9§ Hel 3Tk BT 9g- BIfo :

1. ¥GTA.B.C.E
2. $4dB.C.D.E
3. %40 C.D.E.A
4. PAAA.B.D.E

5\1
A2
A3
:A4

Objective Question

98 1901048 1pye Uruguay Round of trade negotiations called for

. the reduction of average tariffs on industrial goods
. quotas to be replaced by tariffs

. the reduction in agriculture export subsidies

. the reduction in industrial subsidies

. antidumping and safeguards to be relaxed

mignwpe

Choose the correct answer from the option given below :

1. A.B.C.D only
2.B,C,D,E only
3.C.D.E.Aonly
4.D.E.A.Bonly
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IR adief & 3¥7d SR J T [ BT Tg o

A. NS T 0R SHed e § derdl|
B. U¥c| o R UR DIl qd a1\ |

c. $iy Fafq afews! & werdl

D. e Sfeast & werdt

E. UE1 ST 3R gRen Suri & ¢id & s

194U T faoedl O § U8l SR 1 989 BIfog : |

1. $dd A, B.C.D
2. %94 B.C.D,E
3. %99 C.D.E. A
4. $9UD.E.A. B

Al
A2
A3

Ay

4

Objective Question
99 1901049 pijjar 1 of Basel ITI norms focus on

A. Quality and level of capital

B. Risk Coverage

C. Containing leverage

D. Risk management and supervision
E. Market discipline

Choose the correct answer from the option given below :

A and B only
. B and C only
C and D only

. D and E only

9 111 UiaHH & fieer 1 7 g R e fan man

A. UGl &7 T[UraT 3R wR
B. SII@H 38184

C. ITE IR TH ST

D. SIfEH Wa=H 3R gdaemr

E. SR SR
A feu T fawed! © 9 98l SR &1 994 Difol -

[

o

1. $FITAINRB
2.%gaAB AR C
3. %adac ARD
4. %94 D IRE
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A2
A3
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Objective Question

1001901050 xrhich of the following statements are correct about trilemma in monetary policy

A Tt is related to closed economy model.

B. It involves exchange rate, capital mobility and monetary policy.

C. It arises because perfect capital mobility aligns the domestic interest rate to the world interest rate.
D. Flexible exchange rate is not compatible with independent monetary policy.

E. It is related to capital immobility and flexible exchange rate.

Choose the correct answer from the option given below :

1. B and C only
2. Cand D only
3. Aand D only
4. B and E only

Hifsre Aifer 7 Bifden & AR | FEiRed 4 9 @H-91 HUF 961 8

A U8 92 sforawy Hise 3§ Hald gl

B. 3O 5T & YuiTd Yue 3R Hifgd Hif 2 o

C. 39D ITA BIH & DRUI T & b YollTa Hue IR sareiar SR a4 &re 3R 4 O @il o |
D. Tl fafHa o= &1 wad HfGe wlfd & Y G 76l ¢

E. U8 YoilTd 3raR-dl SR ediell [a-0y & 3 Seidd

A fdu T faoedl § 9 el SR &1 994 Bifei ;

1. PaaB 3R C
2.%dd C 3R D
3. PAA A 3MRD
4, PIAB IRE
Al
A2
A3

A4

Objective Question
101 901051
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Based on the NITI Aayog estimate of poverty for the year 2011-12. the states with above 30 percent rural poverty are

A. Manipur

B. Bihar

C. Sikkim

D. Uttar Pradesh
E. Nagaland

Choose the correct answer from the option given below :

A and B only
. B and D only
.B. Cand D only
. A. B and D only

ay 2011-12% forg i smahT & TR @ STEF F SR TR 30 % I Sif¥e T R @ T I8 HH-5H 9 82

A TR
B. f4BR

c. Rifqwn
D. 3R "
E. TGS

i feu U fasedl O 9 |l SR &1 90 SIfey : |

PR VR

1. $aT A IRB
2. %ada B AR D
3. %adAB. C 3R D
4. FATA.BIRD

5\1
A2
A3
:A4

Objective Question

1021901052 A dam Smith contributions are

A Division of labour

B. Notion of increasing returns

C. Notion of diminishing returns

D. Dialectical Materialism

E. Socially necessary abstract labour time

Choose the correct answer from the option given below :

A and B only
. A and C only
Aand D only
. A and E only

F e SR
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TS ¥y &1 OrTeH - 2

A, g1 fayreH

B. §gd Ufawdl & (aid

C. ved ufawal o faid

D. YIS Hifdoarg

E. Q1o &4 ¥ HG0d JRIfHd 49 90y

1= 4T T fasedl § 9 el 9TR 31 994 Pifoy ;

1. $ad A RB
2. PaA A 3R C
3. Pad A 3RD
4. HaA A ARE

ALy
1
A2 5
2
A3 3
3
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4

Objective Question

18_Live_Eco_B1_E_1-150.html

1031901053 1y, components of services sector in Gross Value Added (GVA) are

A, Construction

B. Trade, Hotels. Transport and Communication related to Broadeasting
C. Electricity. Gas. Water supply and other utility services

D. Public Administration, Defense and other services
E. Financial. Real Estate and Professional services

Choose the correct answer from the option given below :

.B. Cand E only
. A. B and C only
.A.B.Dand E only
.A.B. CandE only

b =

e o

A dcg USS (G 81 U) ¥ 9a1 89 & Ued DIH-BH I 52

A. fmfoy

B. @MUK, glcd. URae 3R TR0 Jat 9oR
c. fasrett, 19 STasmafd qur s Suhifiar Sard
D. Tl U=, WidRET dul 3= Yard

E. fariig, urar Juer ik crauifaes dard

1= fSu g fosedl § 9 98l 9TR 31 994 Bifoy ;

1. $EAB. C IRE
2. PaA A, BARC
3.%dd A, B.D ARE
4.Pdd A, B.C IRE
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A3
A4

Objective Question

104901054 Gunnar Myrdal is author of

A. Asian Drama

B. An American Dilemma

C. Theory of Economic Development

D. Principles of Political Economy

E. Economic Theory and underdeveloped regions

Choose the correct answer from the option given below :

. A. B and C only
A, Cand D only
.A. B and D only
4. A. B and E only

2 =

L¥¥]

AR &4 iy das &

A TREE 3E

B. U 3R®$A fgadr

C. AR 3® gHIHIHD SaagHe

D. fUfga 3w gifafcdd sl

E. SHAINS @R U0S JEsqats a1y

A feu T fosedl O © el SR &1 994 ife ;

1. FadA, B3R C
2. PHdd A, C IRD
3. %ddA. B 3IRD
4. HAAA B IRE

Al
A2
A3
fM

Objective Question
105901055
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Which of the following are correct in case of theory of sets.

A (AuB)n(A4'uC)n(BUC)=(ANBNC)u(4UBUC)
B. (AUB)N (AU C)n(BUC)=(ANBNC)u(AUBUC)'
C. AU(BNC)=(4uB)n(4uC)

D. 4n(BuC)=(AuB)n(4uC)

E (AuB)n(4'uC)n(BuC)=(AnBnC)u(4'nB' nC)

Choose the correct answer from the option given below :

A, C.E only
.B.D.E only
.B.C.E only
.A.B.Dounly

T gt & oa § Fefafed § S s g @

A (AUB)N(A'UC)N(BUC)=(ANBNC)U(4UBUC)
B. (AUB)n(A'UC)n(BuC)=(ANBNC)u(duBUC)
C. AU(BNC)=(AuUB)n(4uC)
D.An(BuC)=(AuB)n(4duC)

E (AuB)n(4'vC)n(BuC)=(4nBnC)u(4'nB'nC")

- fag e fam el § 9 el SR & 977 Sifol -

b =

e Laa

1. PAdd A, C.E
2. ®dd B.D.E
3.%ddB. C.E
4.%dd A, B.D

:A1
A2
fx3
A4

Objective Question
106901056
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If S is a sample space and E is an event then the probability axioms can be written as

A P(4)z0

B. p(5)=1
-J x \ s

C. PiU"‘:’J Z‘U!_"Tr']
\i=1 i=1

D. P(4)<0

0 A 0

E. P[U S |=> P(s;)

i=1 J f=1

Choose the correct answer from the option given below :

. A and B only

.A. B and D only
. A, B and E only
. A.Band C only

afe s Y0 WY 3R E o/ & Udie ¢ o Wiidedl fHaq & {9 w0 o foar s 9odr g

A pPla)z0
B. p(5)=1

o o=

L

¢

x \ s
C. ‘piU"I:'J ZP{"IfI
Li=1 i=1
D. P(4)<0
i i B |
E. P{US{
A

= ZI P(s,)

1 fau ¢ fased! # U 981 SR ol 90T Sio :

1. $9d A 3RB

2. %gA A, B ARD
3. %IAA. B ARE
4. FIAA.B IR C

fxl
A2
A3
A4

Objective Question
107901057
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Properties of sufficient estimators are

A. It may not be unbiased

B. It may be unbiased

C. It is always consistent

D. It is not always consistent

E. Minimum variance unbiased estimator

Choose the correct answer from the option given below :

1. A. B and C only
2. A, CandE only
.A.B. CandD only
4. A B.CandE only

TP IHAD B FIFT I EI 82

A T8 TR-gaTUe TRl giaT 8

B. 78 {R-JAITEI ST 8

C. T8 93 U el &

D. U8 9&d I S glaT e

E. A fad TR-uafagt steas

i fau T fasedl § 9§ Il 3TR BT 9g BIfo :

L¥5]

1. $AAA. B 3R C
2. $aAA. C 3RE
3. BAAA.B.C 3RD
4. $AAA.B.C 3IRE

f\l
A2
A3
:A4

Objective Question

108901058 wrhyich of the following are true in case of social goods :

A. Public goods are non-rivalry in nature.

B. Efficient provision of social goods needs a political process of budget determination.

C. Efficient provision of social goods involve horizontal rather than vertical addition of individual pseudo-demand-lines.
D. Among purely private and purely social goods. there are mixed cases which generate benefit or cost externalities

E. Individual consumers will not bid for social good, but will act as free-riders.

Choose the correct answer from the option given below :

.A. C.D and E only
.A.B.CandE only
. A and B only

.A.B.D and E only

b =

e
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TSI aRgel & JE | FRiREd J 4 SH-9H 3 $UF 96l 62

A. o avqy TR vaefa &1 € 81

B. HHIIS Gx3fl & Hd WAt & [0 g6 FyRur 31 Aai=ide Hiear &1 sravgedl sidi g |

C. QTSI oSl & Qe UIaeT= H oufad 1 SRl O warsil ¥ Taad S aoie Afds I e ¢ |

D. [a%[E =0 3§ [ofl iR fax[s o awgsii & fisd arme 81 § Sl anTd STedis a1 oy &1 §od o-d 5 |
E. SFiek SUHTad] HiHTioieh aeg3ii & ferg dieit 78l o sfeh JU@R &1 oig JasR Sl |

A f4u T faoedl © 9 9El 3R &1 994 ifo ;

1. $EAA. C.D ARE
2. %dd A, B, C IRE
3. Hdd A 3R B

4. HAAA. B.D 3IRE

Al
A2
A3

A4

4
Objective Question

1091901059 yyhich of the following are true in case of Ramsey Rule for efficient taxation -

A. Tax rate should be higher on the good that has lower price elasticity of demand.

B. If the demand elasticity in a market s zero. taxes should be imposed only in that markets.
C. Ramsey rule applies to taxation of goods. but not to taxation of income.

D. Ramsey rule minimises the excess burden of taxation across markets.

E. Ramsey rule does not necessarily result in social justice.

Choose the most appropriate answer from the option given below :

.A. C.Dand E only
.A.B.D and E only
3.A.B.Cand D only
4. A, Cand D only

Jod BRI & o I a8 & aed 8 Feied 5 3 oH-5F 9 YT 98l 82

A 57 a&g il @1 77 @l $F 81 37 W R-g33HfEe g1 =feyl

B. g STO/R & T @9 I § ol S9! a1k § &R 1T &1 A1feu|

C. I om, aegeil & SUuH IR AR 811 ¢ Wi S B W 81|

D. I8 o0 92l ST6RT & BIUH & A YR B YFdH Bal ol

E. I 00 &1 aofg ¥ SiHard =9 3 WEiieie a1 &1 07 92 8 oidl 6|

A fqu T faed § 9 98l 3R 1 994 pifo ;

2 =

1. $AAA. C.DARE
2. $dd A, B.D AR E
3. %dd A, B.C IRD
4. HAAA. C 3R D

Al
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A2
A3

Ay

4
Objective Question

110901060 | yyrpyich of the following are not symptoms of multicollinearity in a regression model.

A. High R? with few significant ¢ ratio for coefficients.

B. High pair-wise correlations among regressors.

C. The closer the Tolerance (TOLj) is to zero.

D. Variance Inflation Factor (VIF) of a variable is below 10.
E. The closer the Tolerance (TOLj) is to 1.

Choose the correct answer from the option given below :

. Cand D only
D and E only
. A and C only
. B and D only

frafafea § S SH-aH 3 ufamm= disa # o WRiGad & o -l 82

A TR R T T TS ST D Ho@yul t SFEIT

B. UfamH@dls ¥ 3o IRIOR Jeaed

C. TIeRE (TOL)) YA & Heid gidll 6

D. TR & fiFd GERwifd $RS (VIF) 10 § 54 Sl |
E. TITRY (TOLj) U & &I oidl |

- fag 7 fam el § 9 el SR &1 997 SifoiY -

o =

Lo

1. ¥Fadc dRD
2. HaAD ARE
3. PaA AR C
4. HFAB AR D

I'Al
fAZ
:A3
.A4

Objective Question
111 901061
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Which of the following are recommendations of the Narasimham Committee, 1991.

A. Deregulation of the interest rate structure.

B. Need for greater use of information technology.

C. Permitting only private sector banks to access the capital market.
D. Freedom to appoint chief executive and officers of the banks.

E. Capital adequacy norms were implemented in stages.

Choose the correct answer from the option given below :

A. B and E only
A, Cand D only
A.DandE only
C.D and E only

TRiew T, 1001 o FafafEa 9 oH-3H O G g

A FoER old @1 a9
A VI @1 31 TR B Sravaad
c Wﬁﬁﬂ%ﬁ%éﬁﬁqﬁgﬁmwﬁmz
D. 391 & T& e 3R feR Hgad o1 B sed!
E. USiTd qaieiar FiodT=i &t =Rull § Sri-ad fdar |

i fau T fasedl § 9§ Il 3TR BT 9g BIfo :

b =

S V]

1. $AATA. B IR E
2. %adA. C 3RD
3. PIAA. D IRE
4. %ad C. D IRE

Al
A2
A3

A4

Objective Question

Defensive expenditure method is based on the understanding that

. the consumer spends money to ameliorate the damaging effects of the bad.

mgnweE

Choose the correct answer from the option given below :

A, B and C only
C.D and E only
A, B. CandD only
A, B.D and E only

b

=
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. the defensive expenditure undertaken reflects the consumer's willingness to pay to reduce the level of the bad.

. the observed defensive expenditure is an upper bound on the willingness to pay to avoid the bad.

. the defensive expenditure provide no additional services other than provisioning the desired environmental quality.
. the observed defensive expenditure is a lower bound on the willingness to pay to avoid the bad.

74/106



6/21/23, 10:09 AM 18_Live_Eco_B1_E_1-150.html

IRETHD 9 UG 38 TS TR ARG © b -

A. IuMiad g3 Il & BTHDReS THTE Pl g P & 1Y 4 o0 Bl 6|

B. 601 107 QR&TES o0d G2 Tisl & TR H o1l B & oY YU Bl YITdH B S deardll Bl Gidl © |
C. feran T YReferes oqd 31 Hill O &9 o [T deRal &1 S i g

D. JREMES g § aifsd qafaruity urad] ST WIae B B famd] is HifaRad Yarsi o1 ey T8l gl gl
E. b1 11 YRefieres o0d §11 =il O &9 o [y deqRal &1 el g g

A f4u T faoedl © 9 9El 3R &1 994 ifo ;

1. FEdA, B3R C
2.%dd ¢, D ARE
3. %dd A, B.C 3IRD
4. HAAA. B.D 3IRE

Al
A2
A3

A4

Objective Question

113 901063 ; : 1 i : & ;
Which of the following constitutes India's strategy to combat climate change in the backdrop of ite stand at the 2

conference of the Parties (COP 26) to the UNFCCC held in Glasgow. UK.

6™ session of the

A phasing out of coal-based thermal power generation by 2030.

B. reduction of the carbon intensity of Indian economy by 45 percent by 2030. over 2005 levels.
C. capping Indian economy total final energy consumption in absolute levels.

D. achieving the target of net zero emissions for India by 2070.

E. promoting lifestyle for environment to combat climate change.

Choose the correct answer from the option given below :

b=
0w

Lo

TR GASCS [h7TsH H SAId UNFCCC & UaiPRI & JHISH (COP 26) o 26 d 94 H g U fHofa ot ggf# # FafaRad
BE-BF I HYF Taarg URad ¥ TS Bt YR BI 0GB R 82

A. 2030 T DT STENRT AT Holl IT& Pl &g BT

B. YR 3Ricqa=yT & Pla- 9= 4 2005 B TR &I qa-l H 2030 TP 45% T DI Deldl AT
C. YR sidorawl & oa 3ifay FHell @ud &I HRUE Wi IR A1

D. YRd & [T 2070 T Had [ Icqoid B 080 I HRAT|

E. SIaaR] URad 9 @S- & (oY UHaR 5q silad Xdl &1 ag1HI|

A feu T fosedl © § el SR &1 994 ifo -

1.$dd A.B.D
2. $dd B, C,D
3. %dd B, D.E
4.$dd C,D.E
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:A1
A2
A3
A4

Objective Question

114 901064 | 1745e is given international organisations and their headquarters. Which of the following are correct combinations of the institutions and
their headquarters.

A, GATT : Geneva

B. IMF : Washington DC

C. World Bank : Washington DC

D. International Development Association (IDA) : New York
E. Asian Development Bank : Mandaluyong

Choose the correct answer from the option given below :

1. A, B and C only

2. Aand B only

. C and D only

A, B. Cand E only

7T SIRIPI T8 $iR 31 g (U TIU & | Fafaiad o 8 SH-e1F 4 T3 3R 37 geiiedl & Jgl SaioH © -

A. GATT : SiHal

B. IMF : QTiR{iTe S 9

c. foy d% . afitirea St ot
D. 3fTRIPH 4™ ¥4 (1DA) g 4T
E. U fae § : deraai

e feu 7T fadedl O 9§ Tl 3R B 9d- Do :

P

1. $AAA. B 3R C
2. %dd A 3R B
3.%ad C R D

4. $AAA.B.C 3IRE

Al

A2

A3

A4

Objective Question
115901065
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1.A.B.C.D only
2.B.C.D.E only
3.A.B.C.E only
4. A, C.D,E only

FRATR

1. Hdd A, B.C.D
2. $GdB.C.D.E
3. %adA.B.C.E
4. B A,C.D.E

Al

A2

A3

A4

Objective Question

116 901066y ratehy List T with List IT

18_Live_Eco_B1_E_1-150.html

Which of the following is/are correct about Walrasian demand function?

A. The Walrasian demand function X (P. ¥) 1s homogenous of degree zero if X (0P, o¥) =X (P, W) for any P, W and « > 0.
B. The Walrasian demand function X (P. 77) is homogenous of degree one if X (oP. al¥) = o.X (P, V) for any P. Wand o = 0.
C. The Walrasian demand function X (P. I¥) satisfies Walras' law if for every P => 0 and W >0, we have P X=W forall Y € X (P. IV,
D. Walras' law says consumer fully expends his wealth.

E. If price and wealth both change in same proportion, then individual consumption choice does not change.

Choose the correct answer from the option given below :

AR v 3 aR A PR d e G ad ¥

A, TR Bt P, W 3R 020 & RIUX (P, aI7) =X (P. ) B I ITCRIGGA AT UPH X ( P, ) A 57 & Folitd gl
B. Afe {5t P, w7 3R w0 & U X (0P, o) = X (P. ) © T TTORIGTT UHT X (P, W}%ﬁﬂ@%ﬁﬁ‘cﬂt{%[

D. ATER 1 -8 Fgdl & SUIET S0 a1 IR 1RE @9 o=l o

E. OfS S0 iR Hual gF1 § 9 S01d § gRad= sid1 ¢ df afdaa @ud fdee 8§ &g gfikad Tei siai g |
-1 faU MY fd el & ¥ Hel SR &1 997 SIS -

LISTI

LISTII

(Command-and-control approach

IV.

A |[Cost-effectiveness [ Ia policy that directly regulates polluters through the use of standards.

B. [Pollution permit trading system | II. Jan incentive based policy that encourages conservation practices or pollution reduction technologies.
C. PMarket approach III. |Requires that the least amount of resources be used to achieve an objective.

D.

A market instrument that establishes a market for rights to pollute.

. A-L B-II. C-IIL. D-IV
. A-IIL B-IV. C-1. D-II
ATV, B-IIL C-I1. D-I
AL B-IV. C-I1. D-I

O

Choose the correct answer from the options given below:
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C. A TAF p>>0 R w>0 F W gAR I Tt v e x (P, ) & U Py = & O aroRiRme T yor! areries Hag &1 dg
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it 11 G 11 Y e Siforg
T I A0

A1 o JONT gRT UGUd! &l Udél 0 |
A ERRTMRIIEI) | T peen gekadi

HICHTE ST =i o =& wraf a1
B. [FGO1 SRIHE AR FOCH | I |y -3 il a5 e & 1
[S71 g 3{U&{ Sl 51 1o 7164 W B & [oT
[T T &Y Tg1uH! @1 TERT a1 o |

, s . [a8 919 3UT S UGl & SAEHRI & oY
D. [@HIS SR DI SAURI | V. | mpfrg

C. [@TeR SaHURI IL

fFafeiad fasedl T I Tet SR &1 90+ I ;

1. A-L. B-II. C-III. D-IV
2. A-IIL B-IV. C-I. D-II
3. A-IV. B-IIL C-II. D-I
4. A-IIL. B-IV. C-II. D-I

IZAI
52
{%3
.A4

4

Objective Question

117 901067y fateh List T with List IT

LISTI LIST IT
A [Kleins rule of thumb I |Structural break
B. [Ljung Box (LB) statistic] II. [Unit Root
C. [KPSS I1I. |Significance of autocorrelation coefficienty
D. [Bai-Perron IV. Multicollinearity

Choose the correct answer from the options given below:

1. A-IV. B-IIL. C-II. D-1
2. A-IV. B-IIL C-1. D-II
3. A-IL B-IV. C-1. D-III
4. A-I1. B-II1. C-1IV. D-I

et 1p1 gl 11 9 e Siforg
Gl T 1T

_ [0 @1 AEeiR® Waid| 1 [Blhard [queH

. [@n sl o dn ¥ieglem | 1L [gHe &

_ [KPss (B Ul T T) 111, [td T8 0N o] TR Hed
N RG] V. [Feciaifei=aRe @EgaiEan

frafafad fasel & 9 98t SR P Ig i

jw] Fol i==1 I

. A-IV. B-IIL C-IIL D-I
. A-IV. B-IIL C-I. D-II
. A-IL B-IV. C-1, D-III
AL B-IILL C-IV. D-I

ko =

Lo
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:Al
A2
A3
A4

Objective Question

118 901068 & 1.tk List T with List IT

LISTI LIST IT
A I M Keynes I. [lnventory theoretic approach to transaction demand for money
B. [Kydland-Prescott | II. |Liquidity Preference
C. |Baumol-Tobin IIT. |Time inconsistency Problem
D. [Friedman-Schwartz] IV. [Monetary History of United States

Choose the correct answer from the options given below:

1. A-IL. B-III. C-IV. D-1
2. AL B-II. C-1. D-IV
3. A-IIL B-L. C-IL. D-IV
4. A-II. B-III. C-1. D-IV

a1 191 g1 11 9 fieH sifore

1 T 1L
B £ & ToTT TG JiT1 & IET
oL . S v o= Sz saemon

A
B. [peuvs [adie| 11 [aiadl =
C.
D.

EESKEIES 111 [0 i 3{TTaal i TaEl
plsaid@rd | IV, [3fRi®] &1 2iic® 3dery

Frafaiad fae el O 9 981 SoR &1 90 FioIg ;

AL B-IILL C-IV. D-I
. A-IIL B-I1. C-L. D-IV
. A-IIL B-I. C-1L. D-IV
AL B-II. C-1. D-IV

b =

a0

Al
A2
A3
{&4

Objective Question
119901069
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Match List I with List IT

LISTI LISTII
A [Kuznet I. |Innovation and Entrepreneurship
B. [Nurkse II. |Balanced growth theory
C. [Leibenstein IIL. Inverted U-curve hypothesis
D. |Schumpeter IV [Critical minimum effort thesis

18_Live_Eco_B1_E_1-150.html

Choose the correct answer from the options given below:

1
2

. A-L. B-IV. C-III. D-II
. A-IIL B-I1. C-IV. D-I

3. A-1V, B-IIL C-II. D-I
4. A-II, B-I. C-IV, D-III

et 1 PTGl 11 9 eI siforg

I 1 E I

A. [@uide L [HdHdT IR SeHRiadr

B. Fhd 1. [gqfed ofs e

C. [dedH 111 [3eT U b Uiddhedl

D. [grdiey 1V [pifae gan yard [sia

Fafafad fae el T 9 98! SR &1 98- Sifolg -

[

Lo

Al

A2

A3

A4

Objective Question

120 901070 & gtk List T with List IT

. A-L. B-IV. C-III. D-II
- A-ITL B-I1. C-IV. D-I
. A-IV. B-IIL C-I1. D-I
AL B-1. C-IV. D-III

LIST I (States) |[LIST II (Food grain production (2021-22) Thousand Tonmnes]
A |Telangana I |11266.0
B. [Jharkhand IT. 49842
C. |Chhattisgarh III. [8897.0
D. |Andhra Pradesh| IV. |15095 4

Choose the correct answer from the options given below:

[

. A-L B-II. C-IIL. D-IV
CA-IV. B-IIL C-IL. D-I

3. A-L B-IIL. C-IV, D-II
4. A-IV. B-II. C-III. D-I
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Objective Question

it 11 G 11 Y e Siforg
T 1 a1
T TR STET (2021-22) (BR T)
A [T L 112660
B. [gRw@vs 1. J4984.2
C. [EdiaTg 11 [8897.0
D. [ariumew IV 15095 4
fafeiad fdmedl & 3 9gl IR &l 9o Difeu -
1. A-I. B-IL. C-III, D-IV
2. A-1V, B-IIL C-II, D-I
3. A-L. B-IIL. C-IV, D-II
4. A-IV., B-II, C-I11. D-I
Al
1
A2
2
I
3
Ay
4

121 9010711y fateh List T with List IT

LISTI

LIST II

Tax Evasion

I. Bond Financing

[Effective incidence of tax| II. [llegal free niding

. [Legal incidence of tax III. |[Obliged to deliver tax revenue to Government

ol o|w|E=

. [Fiscal Illusion

IV. [Not necessarily correspond to on whom tax is imposed

1. A-IL. B-III. C-IV. D-1
2. AL B-L. C-II. D-IV
3. A-ILL B-IV. C-IIL. D-I
4. A-IV. B-IIL C-II. D-I

it 11 G 11 Y e Siforg

Choose the correct answer from the options given below:

T 1

T 1

A_[@ IRt

. = foa usmE

s}

. [UYTdl B UR

. [erited guaER

C. [Afa T UR

[ERPR DI DR T UG
|77 & e s

D. Rrea g s

I CEUCE T R G R AR

[

b o

FefeiRad fadedl O 9 S8t 3Tk &I 9 DIt ;

. A-IL B-IIL. C-IV. D-I
AL B-L C-1L. D-IV
AL B-IV, C-IILL. D-I
. A-IV. B-IIL C-II. D-I
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Al

A2
A3
A4

Objective Question

1221901072 yfatch List T with List IT

LIST I (Type of India's population growth rate) | LIST II (Period)
. [Rapid High Growth 1. ]1981-2011
. |Stagnant Population II. [1921-1951
. [High growth with definite signs of slowing down| ITT |1951-1981
_ |Steady Growth IV |1891-1921

w]lel [+ h=

Choose the correct answer from the options given below:

1. A-IV. B-II. C-III. D-I
2. AL B-IV. C-1. D-II
3. A-IIL B-IV. C-II. D-I
4. A-IV. B-IIL. C-II. D-I

161 g 11 9 e siforg
I T 11

YRE F TTHET Jieg X FI TR Sty
A [fas=dalg L |i951-2011
B. [RR S1g=m 1. [1921-1951
C. [3= gl & 1fd & Fi%d Yool & T | 101 [1951-1981
D. [gdd g IV. J1891-1921
frafafed famedt & 4 w6t SR AT TmT S -

1. A-IV, B-II, C-III, D-I

2. AL B-IV, C-I, D-II

. A-IIL B-IV. C-II. D-I
. A-IV. B-IIL C-II. D-I

da

Al

A2

A3

A4

Objective Question
123901073
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Match List I with List IT

LIST I (Policy) LIST II (Year)
A [National Forest Policy I |2000
B. Marine Fishing Policy 11 |1994
C. [New Mineral Policy III. |2004
D. [National Population Policy] IV. [1988

Choose the correct answer from the options given below:

1. A-IV. B-IIL. C-II. D-1
2. A-IV. B-IL. C-IIL. D-I
3. A-ILL B-IV. C-II1. D-I
4. A-I1. B-II1. C-1IV. D-I

et 15p1 gl 11 9 T iforg

T 1A EebEL]
RI9TT 9 Hifd 1 ooo
oS 7 Tg o Hiid | 1 1994
2 Wi au i | 11 [oo4
R¥Tg Sgw Hifd | v [1988

fafaiad fasedl & U 981 SR &1 98- Il :

S

. A-IV. B-IIL C-II. D-I
- A-IV. B-ILL C-III. D-I
- A-IL B-IV. C-IIL. D-I
AL B-IILL C-IV. D-I

[

Lo

Al

A2

A3

A4

Objective Question
124/901074
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Match List I with List IT

LIST I LIST

=
A |f@=0andf =0 L e

f

-
B. |9 >0and f ) <0 I
. |fe)<0and ey <o I

\'A

J

D. | /() < 0 and £"(x) > 0] IV.

23X

1. A-I. B-IV. C-IIIL. D-II
2. A-L. B-III. C-1L. D-IV
3. A-IV. B-L. C-I1. D-III
4. A-IV. B-II. C-III. D-I

b =

Al

A2

A3

Ay

4

A-L B-IV. C-II. D-IT
.A-L B-IIIL C-IL. D-IV
3. A-IV. B-L. C-I1. D-III
4. A-IV. B-II. C-III. D-

1

Gt 11 g 11 9 e siforg
el g
-
A lf=0andf m=0f L f,/"r
(1] I—)\
-
B. [fe=0amd s m=of I
C. |76 < 0 and f(x) = 0| IIL
\’A
]
D. [f)<0and s =0l 1v, /
1| —
Frafafad f[aeedl 0 9 98l SR &1 994 Sifor -

18_Live_Eco_B1_E_1-150.html

Choose the correct answer from the options given below:
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Objective Question

125 901075\ fateh List T with List IT

18_Live_Eco_B1_E_1-150.html

LISTI

LIST II

A [Central Bank Loss Function] 1.

yy=A-an

=T, +a(,1-'l, —_vé,]

(yr —,1-'(,) = —QB(EI —T(r)

B. Monetary Rule (MR) I
C. [Phillips Curve (PC) 1.
D. [Dynamic IS Curve V.

m

L=(y,->, I‘ +P|w, - n! I

I

1. A-IL, B-III. C-IV. D-I
2. AL B-I1. C-IV. D-I
3. A-IV. B-IIL C-II. D-I
4. A-IV. B-IIL C-1. D-II

161 g 11 9 e siforg

Choose the correct answer from the options given below:

T 1

=t 1

A Hegds agtamq| L |V, =4 —-ar

B HgsfFaomr) [0 |n,=m_ + a(yt, _},.e]

C. [tpfeeg ad W o)

—

20 ve) —oalm =)

D. [ 1s 3 W@

ey

VL=, -_}",)2+|5{.,TI, .'r'fl]:

1. A-IIL B-IIL. C-IV, D-1
2. A-IIL B-II. C-IV. D-I
3. A-IV. B-IIL C-II. D-I
4. A-IV. B-III, C-I. D-IT

Al

A2

A3

A4

Objective Question
126901076
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Asrange the relative weights in percentage assigned to following eriteria by the XIV finance commission in ascending order.

A Income distance

B. Area

C. Population (1971)

D. Demographic Change (2011 population)
E. Forest Cover

Choose the correct answer from the option given below :

LB,ED,C.A
2 EDB A
3.A.C.D.B.E
4. E.B.D.C.A

dI5gd o S gRT SHgE G FafafEd Aads & e HRI &1 UiiRd & SRS eH H saaieyd Hifoy -

A gl

B. §ABd

C. SEEN(1971)

D. 9% g 9Rad- (2011 B SFEE)
E. G4 &7

A feu T fosedl § 9 98l 3R &1 994 ifol -

b
SERCR
WO
SECERS
Owoo
oo

& b

Al

A2

A3

Ad

Objective Question

127|901077 Asrrange the following in ascending order on the basis of degree of economic integration.

A. Custom Union

B. Free Trade Area

C. Economic Union

D. Common Market

E. Preferential Trade Arrangements

Choose the correct answer from the option given below :

o

et
Wr 0w
> 9O
SRR~
Admm
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e THE Bt A (59 F YR W RO B IRIe $0 § agaieyd Sifo :

A gy

B. & R &7

c. 3ffife 9g

D. 9 Nk

E. S99 SMUR a1 H

1= 4T U fa e § 9 U8l 9Tk 31 994 By ;

o

ool
WE 0w
> 9o
SRR~
admm

Al

A2

A3

A4

4
Objective Question
128)901078 Arrange states in ascending order based on loans from the central government for the year 2020-21
A. Karataka
B. Madhya Pradesh
C. Tamil Nadu

D. Gujarat
E. Maharashtra

Choose the correct answer from the option given below :

b =
wOwo
cwow

> OU
OO

bk
M

T 2020-21 H &g IRPR I WK HUN & STYR TR IoT] $i RS HH T Tafud SHor:

A PAlcPd
B. H U
C. difa g
D. TGeRId
E. HERTY

1= 4T T fasedl § 9 el 9TR 31 994 Pifoy ;

WA WO

WO
oo e

B
> 0o
trf b bt

Al

1
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2
A3 3
3
Ay

4

Objective Question

129|901079 Arrange the following Acts in chronological order of their year of enactment starting from the oldest :

A. Foreign Exchange Regulation Act
B. Competition Act
C. MRTP Act

D. Foreign Regulation Act
E. Foreign Exchange Management Act

Choose the correct answer from the option given below :

W
> 500
w P P w
cowe
oMy
m o gm

frafafad siftfamt o 376 siifaa & ad & STeR IR QR ¥ SR $Ra Sramd § oafeyd oo -

A, facw fafoy fafgm= sifafAag
B. Ufaegyf sfafam

C. 09 R 1 Ut sifafag

D. faew fafam= sifdfan

E. 92w fafFam= vya=e fafag

e feu T fasedl © 9 gl SR &l 98+ ifol -

b

w > P W
nOwp

= W

> 00
ommg
MmO

Al

A2

A3

A4

Objective Question
130901080
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Asrrange the following in order to their year of establishment starting from oldest

A. The Industrial Credit and Investment Corporation of India (ICICI)
B. National Bank for Agricultural and Rural Development (NABARD)
C. The Industrial Finance Corporation of India (IFCT)

D. The Industrial Reconstruction Bank of India (IRBI)

E. Export-Import Bank of India

Choose the correct answer from the option given below :

1LA,C.E.B.D
2 6ADERB
3B CA B, D
4. A;D,CB,E

A. HRTTT SRR E BT 3R o A (313 9 omg 3 omg)
B. WP B 3R A0 [ 9 (a19)

C. YR e faw i (3 T 3 o)

D. HRdg SR % (3 IR

E. YRdg Fafa-smad &

i feu U fadedl § 9§ Hel 3Tk B 9g- SDIfo

b
> m e
UOoPn
n P o
w
mowg

& W

Al

A2

A3

Ad

Objective Question
131/901081 Asrrange the following chronologically in order of their publication starting from the oldest:
A. General Theory of Employment, Interest and Money
B. A Treatise on probability
C. Essays in Persuasion
D. The End of Laissez Faire
E. A Tract on Monetary Reform

Choose the correct answer from the option given below :

LB EDAE
2. B.ED LA
3B B DA
4.D,E,B.A,C
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FAfRad o1 31 U1 & YR IR R ¥ AR HIP SIachd H Haiedd HIfo:

A, SR AR 311 TH@gHC, Sevee UUs &l
B. U fefew affq urafaferdt

C. TYW 34 URYURH

D. f& 105 3{fw o9 R

E. U qe A THcs e

1 feu e faw el § U gl 3R &1 944 Hifoi

oMW W
RN esl

o WO
SISESRS

el ]
>00p

Al
A2
A3

Ay

4

Objective Question

132/901082 Arrange the following events of equity trading in India starting from the oldest :

A. The BSE introduced screen-based trading.

B. Foreign Institutional Investors (FIIs) are permitted to invest in the Indian Securities Market.
C. NSE commenced operations in wholesale debt market segment.

D. The SEBI banned badla trading on the BSE.

E. The NSE overtook the BSE as the largest stock exchange in terms of volume trading.

Choose the correct answer from the option given below :

>

W
now
ww O w
Mmoo
(1 O
> 0

YRd H tfisdl IR 31 Fafafad geiel &1 qid= 3 IR™ S T8l 3eH B ooaid $ifo ;

A S THS 3 TP MR IR R &)

B. fae= Seyrma Fave! (U ofrg ofs) & YR Uiyl aoR & Faw &t srafa f s
C.TATHS J Ui B §9R § B Jaraq R )

D. TH 5 ol 38 (6 7 &t T S & Saad IR & Wiaafed el

E. TA UH S 9 SUR & RAM B g1 e =93 98 § U9 S e Uaao o1 g faa

i<l faU U fasedl § 9§ I8l 3R &1 90 Bifo ;

b=
NOwp
ww o W

B Wk

CHnog
O
> % B A

Al

1
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2
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3
Ay

4
Objective Question

133/1501083 Sequence of steps followed in the estimation of Indirect Least Square (ILS) starting from the beginning :

A. Identification of the structural equations
B. Application of OLS

C. Obtaining structural coefficients

D. Obtaining reduced form equation

E. Use the model for policy

Choose the correct answer from the option given below :

A D.B.CandE
. A.B.D.CandE
.B.D.A.Eand C
.B.A.C.Dand E

HYE =gAqH T (3175 T UH) & HiG o HTHM & HFieiad axull & RIS TR Y 3R SRP ol A1 ¥ Fafed difs

A G GHIBUI B UgaH

B. 3 U0 T8 I SFIHAT

C. TP TUNE It BT

D. YHI&U1 &1 Y7 Y UIed BT

E. HIfd 8 HIsd / URET &1 TR Sl

[ I

Lo

-t fau e fam et 7 @ Wel SR @ 90 @i -
1.LAD.B.CandE
2AB.D.CandE
3B.DAEandC
4.B.A.C.DandE

A
1

A2
2

A s
3

Mg
4

Objective Question
134901084
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Ag per the total revenue received by the government under the head of GST on the domestic supply of goods and services for 2021-22.
arrange the following states in ascending order :

A. Odisha

B. Rajasthan

C. Delhi

D. West Bengal

E. Madhya Pradesh

Choose the correct answer from the option given below :

I._JE—A
0w
W o
0 P
OrOow
[0 Blw i wiie=

ol
23]
b=

ay 2021-22 H X il @ O MY SR YaTsf TR off U9 71 & Y & Sfarfd YR WRER 4 oG] Bl U G 01 & YR TR
M54l B SHRIG! hH H HaiRyd B

A S

B. JoRE
c. faedt

D. Gigy §1re
E. O WS

A feu T fased! © 9 98l SR &1 994 pifol -

IJ!—‘
QWMo
bW
=0
UP 0w
wgg e

B

Al

A2

A3

A4

Objective Question
13511601085 According to the Census, 2011 arrange the states in the descending order based on the literacy rate (aged group 7 year and above) :
A. Nagaland
B. Tripura
C. Sikkim
D. Manipur
E. Meghalaya

Choose the correct answer from the option given below :

1L.D,C.B,E.A
2.C,B,D.AE
3:B; €A DB
4. A CB.ED
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SIFTUAT 2011 3 SHTHR F&RdT &3 (7 79 3R e 1) & YR IR FafiEd Isai &1 sfavie] 0 & Fafeyd Sifoit:

Jg—
BI '] [
c. glesa
D. TR
E. Hur@g
= feu 7T faeedl § 9 981 3R &1 994 Sifei
1. DG B E.A
2.C.B.DAE
3.B. C,AD,E
4. A CB.E.D
Al
1
A2 5
2
A3 5
3
Ay
4

Objective Question

136901086 Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : If governments do not care about protectionists' rents. they would replace all import duties with sales taxes.
Reason R : Sales tax is more efficient means of raising revenue than import tariff.
In the light of the above statements. choose the correct answer from the options given below :

1. Both A and R are true and R is the correct explanation of A.

2. Both A and R are true but R is NOT the correct explanation of A.
. A s true but R is false.

Ais false but R is true.

4 < P fAU U §. TS SHNDHUT (Assertion A) P 39 T fAfREd § ol GERT 3UD PRI (Reason R)& ¥ H

W

HAEHYA A: Ul TSR TREUIETEE! & T B &1 761 3@dl 6, al d it S7aTd Yeob! &b R W (aepl B @ il
TRUR: 561 X AT T=[ed &1 9-¥0d Joid g &1 e SRR A 51
SR HY & Hadies d, - f3U 1Y faedi § 9 999 Sugad Ik &1 99 HIfelU

 AIRRIHITUE IRR, AP IS urem &
 AIRREHI T E IR AT S B TE
AT E IR TR AR

AT TS AP TR IS

b =

S V)

Al
1
A2,

2
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A3

3

Ay

4
Objective Question

1371901087 Give below are two statements :
Statement - I : Friedman's theory of the demand for money is partly Keynesian and partly non-Keynesian.
Statement - IT : It is non-Keynesian in that Friedman neglects completely Keynes' clarification of the motives for holding money and the
corresponding components of demand for money.
In the light of the above statements, choose the correct answer from the options given below:

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement II is true.

9 &1 Y ST U §, TP AHUTYT (Assertion A) P U H ARG ¢ T G¥RT IUP DRI (Reason R)P T4 T

bJ =

HTYT A: WISHA BT ¥ Tt A7 7 Riid Sfif¥e =0 I o1 gadfat SR i ¥ ¥ R-a=1 g9da! @ Rsid gl
BRUIR: TR-B4 GHUDT T WIS S0 & o= 3@ & Yol & aiiieul iR 49 B dg=ul ged Hifll I Y dRE PRl g |
SWRIT B & el o, - 3T Y [aedl # 3 968 SUgad 9o &1 99+ DT

. A SRR I TEH € SRR, A BI el ARSAT ©

. A SRR T U8 § SiR R. A B ol IR 6l &
AT e AlPTR IR TR B

AT T AT R TR

o =

S V)

Al

A2

A3

A4

Objective Question

138 901088 3i1-¢ below are two statements :
Statement - I : Under first degree price discrimination. monopolist sells different units of output for different prices and these prices may
differ from person to person.
Statement - IT : Under third degree price discrimination, monopolist sells different units of output for different prices, but every individu
who buys the same amount of the good pays the same price.
In the light of the above statements. choose the correct answer from the options given below:

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement IT 1s false.
. Statement I is false but Statement I is true.

[

IS )
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EIE RIS R e

B 1 YUH S 0 HR & i Td UDTUPRATE] TG BT SHeHT-STHT SHISUl D STI-HAT ool TR 89d1 § 3R 3 Jou aafad
x-afed RE gl gPa g |

B I1: it 591 o8 3R & S d YT RATS] Il P SHelT-3ehT SHISTl B SHTI-ST Yedl TR s9dl ¢ did Id1g Bt
T T BR1e aTe Y Sfad S e S5 Bl g

TWRIG DY & 3HTai T, 143U T fasedi T 9 969 Iuged Jok &1 98 HITIU:

1. BYT1 SR 11 3H T8 &

CFYIAR IS Tad §
3. YT ITeI S AT YT 1 Tad ©
4. FYT IO §. AP PUT I TSI ©

[BS]

Al
A2
A3

A4

4
Objective Question

139901089/ Giv-e below are two statements :
Statement - I : The terms of trade of a nation are defined as the ratio of the cost of its export commodity to the price of its import
commodity.
Statement - IT : The terms of trade of the trade partner are equal to the inverse of the terms of trade of the other nation.
In the light of the above statements. choose the correct answer from the options given below:

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4., Statement I is false but Statement IT is true.

9 < Py feg e &

HUA I T dll SR & AR &1 3 0! AT a3l &1 aTd SR IUS! STd axg il & Ted & 3T & URYINd 31 9l g1
U I1: UG FIHER &1 ATIR 2at, 0 G B ATIR dl & Jaad & aaR sldi gl

SR Y & il H, - 3T T [qpedl ¥ 3 9 Suga SR &1 99 DITU:

b =

SWRIT BY1 & e o, - [§U T faedl § 3 9ad S9ge SR &1 99 DITU:

U1 IR 11 TS §
CFYF IR I SH T §
FYFTITE . AFT FYF N A §
.Y 17T ©, Qi U 11 TE1 ©

b =

EE V)

Al
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Objective Question

140901090 Giv-e below are two statements :
Statement - I : Division of labour is the starting point of Smith's theory of economie growth.
Statement - IT : It is division of labour that results in the greatest improvement in the productive power of labour.
In the light of the above statements. choose the correct answer from the options given below:

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement II is false.
. Statement I is false but Statement IT is true.

A P R E:

B 1: 91 B fauTe (1Y & afiies gis Rigid @1 ki fog

B I1: T8 48 B fayTer ¢ 8 40 & SaTaR! ieR § sfiiean gur g gl
SR B & Hddles 1, - 3U T fasp <l ¥ 9 9ad Sugad Sk B1 98 HIfeU:

b =

Lo

ﬁﬂ?{laﬁillaﬁw%

(o]

'qulaﬁ?na:ﬁm%
P ITA S, AT PYT I 3T ®
4. PYT1ITT R, AT PYT I T &

o

Al

A2

A3

A4

Objective Question
141 901091

file:///C:/Users/ADMINI~1/AppData/Local/Temp/Rar$EXa32960.27138/18_Live_Eco_B1_E_1-150.html 96/106



6/21/23, 10:09 AM

142901092

18_Live_Eco_B1_E_1-150.html

Read the passage below and answer the question :

The government of India's fiscal policy response to the covid crises comprised of a judicious mix of increasing food and fertilizer
subsidies on the one hand and a reduction in taxes on fuel and certain imported products on the other. Despite these additional fiscal
pressures the union govt. is back on track. The resilience in the fiscal performance of the union government has been facilitated by the
recovery in economic activity buoyancy in revenues from direct taxes and goods and services tax (GST) and realistic assumptions in the
budget. The gross tax revenue registered a YoY growth of 15.5% from April to November 2022, driven by robust growth in the direct
taxes and GST. The gross GST-collection has increased at 24.8% on YoY during the same period. The Union Government's emphasis on
capital expediture (capex) has continued despite higher revenue expenditure requirements during the year. The center's capex has steadil
increased from a long term average of 1.7 percent of GDP (FY09 to FY20) to 2.5% of GDP in FY22 PA. The center has also incentivize
the state governments through interest free loans and enhanced borrowing ceilings to prioritize their spending on capex. Government ha:
boosted allocations on infrastructure intensive sectors such as roads and highways. railways and housing and urban affairs. which has
bearing on capex. This increase in capex will have implication for medium term growth and sustainable government debt to GDP ratio.

Which of the following strategies was not comprised India's Fiscal Policy response to Covid crises :

1. Increasing of food subsidy

2. Increasing of fertilizer subsidy

. Reduction in taxes on certain imported products.
. Increase in taxes on fuel.

= o e #1 ufeu SR wai & IR I (91-95)

BIAS Yebe & Yid YR WRPR I Hifee =iifd ufaferar & ue 3R @ Ud Hakd! W agdl Gieds! 3R gidl 3R 249 U4 6§
ATl IedTal UR 1 1 Heldl B -TE™ETd (R e § 1 59 Siaikad HIi5® aadl & a/aue, 39 PR yed] R dle i gl
TTfcifafer o uiernit, Yeaef 1. | SR Hal-hR (Sl U <) I a1 gupedl SR guie § gurdard] yaiqaHl B aug 9 99
WPHR P Hifed B e ¥ 7a Qe P1 HIR 5341 &1 Y& P SRSl T 1 H FaRawd gha & Iad 309 9 FamR 20228
Yhe PR eI H a¥-az-ay 15.5% Dl gl aol 55 | Sl a1y & R Febel i Y <1 GHIeRul ¥ ay-ax-ay 24.8% $1 3fE §5 o
3= oG o7y ¥ SIaug YoiTTd o0l TR a8 & GR1- UH IRHR P 961 SIRI k6T ¢ | 5% P UoilTd o0 & IHd R S | 1.7
wia=Ta & diatafie sid (faira oy 2000 9 faxig @ 2020) 9 fdwiid 98 20225 T ERE SIE H 2.5% d Fad &Y 4 SN §
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Read the passage below and answer the question :

The government of India's fiscal policy response to the covid crises comprised of a judicious mix of increasing food and fertilizer
subsidies on the one hand and a reduction in taxes on fuel and certain imported products on the other. Despite these additional fiscal
pressures the union govt. is back on track. The resilience in the fiscal performance of the union government has been facilitated by the
recovery in economic activity buoyancy in revenues from direct taxes and goods and services tax (GST) and realistic assumptions in the
budget. The gross tax revenue registered a YoY growth of 15.5% from April to November 2022, driven by robust growth in the direct
taxes and GST. The gross GST-collection has increased at 24.8% on YoY during the same period. The Union Government's emphasis on
capital expediture (capex) has continued despite higher revenue expenditure requirements during the year. The center's capex has steadil
increased from a long term average of 1.7 percent of GDP (FY09 to FY20) to 2.5% of GDP in FY22 PA. The center has also incentivize
the state governments through interest free loans and enhanced borrowing ceilings to prioritize their spending on capex. Government ha:
boosted allocations on infrastructure intensive sectors such as roads and highways. railways and housing and urban affairs. which has
bearing on capex. This increase in capex will have implication for medium term growth and sustainable government debt to GDP ratio.

Which of the following is not correct with respect to facilitation of resilience in fiscal performance of the union government :

1. Recovery in Economic activity

2. Buoyant GST revenues

Expenditure austerity measures pertaining to food and fertilizer subsidy
Realistic assumptions in budget

2 f&u Teriw &1 ufeu iR wal & 3R IfrE: (91-95)

Pifds e & Uid URd WPR $1 Hifgd H1id Tidfehan T SR Ge Td SHavd! R g¢dl Siedsl iR g SR e W 5o
SR SATE] IR BRI 1 Sl ol -ITa=iTd (9307 e 81 59 Hfikad Tifse garai & aave. ¥9 WHR Jedl W dre S g
TTfcifafes 7 gfermfe. goags 1. T SR Hal-HR (Sff T ) T IeRa T Agpeadl SR guic § gyrard) atqam o 9ug 9 99
WHR & Hifse P (a1 T 79 ek 1 TR g9 ©1 T 3 3RSl TF & ¥ SaRed 3fa & Fad 3 I TamR 20229
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Read the passage below and answer the question :

The government of India's fiscal policy response to the covid crises comprised of a judicious mix of increasing food and fertilizer
subsidies on the one hand and a reduction in taxes on fuel and certain imported products on the other. Despite these additional fiscal
pressures the union govt. is back on track. The resilience in the fiscal performance of the union government has been facilitated by the
recovery in economic activity buoyancy in revenues from direct taxes and goods and services tax (GST) and realistic assumptions in the
budget. The gross tax revenue registered a YoY growth of 15.5% from April to November 2022, driven by robust growth in the direct
taxes and GST. The gross GST-collection has increased at 24.8% on YoY during the same period. The Union Government's emphasis on
capital expediture (capex) has continued despite higher revenue expenditure requirements during the year. The center's capex has steadil
increased from a long term average of 1.7 percent of GDP (FY09 to FY20) to 2.5% of GDP in FY22 PA. The center has also incentivize
the state governments through interest free loans and enhanced borrowing ceilings to prioritize their spending on capex. Government ha:
boosted allocations on infrastructure intensive sectors such as roads and highways. railways and housing and urban affairs. which has
bearing on capex. This increase in capex will have implication for medium term growth and sustainable government debt to GDP ratio.

Which of the following strategy is adopted by Union Government to prioritise States' spending on capex.

1. Incentivizing for higher revenue expenditure

2. Incentivizing for interest free loans and enhance borrowing ceilings
3. Incentivizing for higher interest payment

4. Incentivizing for large spending on tax

2 f&u Teriw &1 ufeu iR wal & 3R IfrE: (91-95)

Pifds e & Uid URd WPR $1 Hifgd H1id Tidfehan T SR Ge Td SHavd! R g¢dl Siedsl iR g SR e W 5o
SR SATE] IR BRI 1 Sl ol -ITa=iTd (9307 e 81 59 Hfikad Tifse garai & aave. ¥9 WHR Jedl W dre S g
TTfcifafes 7 gfermfe. goags 1. T SR Hal-HR (Sff T ) T IeRa T Agpeadl SR guic § gyrard) atqam o 9ug 9 99
WHR & Hifse P (a1 T 79 ek 1 TR g9 ©1 T 3 3RSl TF & ¥ SaRed 3fa & Fad 3 I TamR 20229
Y P Iord H a9-23-a9 15.5% D i &0t 5| ST Sfae P SRH FPbd ot T < FrTe=01 & a¥-gz-avf 24.8% P IS g2 &
= oG o7 3 STauIg YSiTTd o0l TR a8 & SR IY TRBR BT 967 SIRI 6T ¢ | % P YoiTd of & TP IR ST | 1.7
ARIRIT & Seiafie i (faira a8 2000 3 faxid g 2020) ¥ fawid 98 20225 TH 0 R SHGE B 2.5% TP Tad =9 3 §gRI §
§1 H% = SO GO B0 UG Db SR GUR ol &1 SUS 9] af $R & o0 WHRI I Hielied (a7 e d GoirTd o8 TR 37
T B ATYHEA 70 PR W | TRBR A UsiFTd o i FHTTd PRl alel Gi-a1a] st S agardm ardl & o I 3R
m@wqﬁgﬁ%ﬂwﬁwﬁmﬁﬁﬁWW%iWWﬁ@q@%nmﬁq@ﬁmﬁww
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Read the passage below and answer the question :

The government of India's fiscal policy response to the covid crises comprised of a judicious mix of increasing food and fertilizer
subsidies on the one hand and a reduction in taxes on fuel and certain imported products on the other. Despite these additional fiscal
pressures the union govt. is back on track. The resilience in the fiscal performance of the union government has been facilitated by the
recovery in economic activity buoyancy in revenues from direct taxes and goods and services tax (GST) and realistic assumptions in the
budget. The gross tax revenue registered a YoY growth of 15.5% from April to November 2022, driven by robust growth in the direct
taxes and GST. The gross GST-collection has increased at 24.8% on YoY during the same period. The Union Government's emphasis on
capital expediture (capex) has continued despite higher revenue expenditure requirements during the year. The center's capex has steadil
increased from a long term average of 1.7 percent of GDP (FY09 to FY20) to 2.5% of GDP in FY22 PA. The center has also incentivize
the state governments through interest free loans and enhanced borrowing ceilings to prioritize their spending on capex. Government ha:
boosted allocations on infrastructure intensive sectors such as roads and highways. railways and housing and urban affairs. which has
bearing on capex. This increase in capex will have implication for medium term growth and sustainable government debt to GDP ratio.

The Capex of the union government for the period FY 09 to FY 20 on an average was

1. 2.5 percent of GDP

2. 15.5 percent of revenue receipts
3. 24.8 percent of GST revenue

4. 1.7 percent of GDP

2 f&u Teriw &1 ufeu iR wal & 3R IfrE: (91-95)

PIAS Fhe & Uid HRA IDR 1 HIfge =id HiiihdT H T 3R TTef U4 Harp! TR ggal ous! 3R g8l R $4T T4 5B
SR SATE] IR BRI 1 Sl ol -ITa=iTd (9307 e 81 59 Hfikad Tifse garai & aave. ¥9 WHR Jedl W dre S g
TTfcifafes 7 gfermfe. goags 1. T SR Hal-HR (Sff T ) T IeRa T Agpeadl SR guic § gyrard) atqam o 9ug 9 99
WHR & Hifse P (a1 T 79 ek 1 TR g9 ©1 T 3 3RSl TF & ¥ SaRed 3fa & Fad 3 I TamR 20229
Y P Iord H a9-23-a9 15.5% D i &0t 5| ST Sfae P SRH FPbd ot T < FrTe=01 & a¥-gz-avf 24.8% P IS g2 &
= oG o7 3 STauIg YSiTTd o0l TR a8 & SR IY TRBR BT 967 SIRI 6T ¢ | % P YoiTd of & TP IR ST | 1.7
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Read the passage below and answer the question :

The government of India's fiscal policy response to the covid crises comprised of a judicious mix of increasing food and fertilizer
subsidies on the one hand and a reduction in taxes on fuel and certain imported products on the other. Despite these additional fiscal
pressures the union govt. is back on track. The resilience in the fiscal performance of the union government has been facilitated by the
recovery in economic activity buoyancy in revenues from direct taxes and goods and services tax (GST) and realistic assumptions in the
budget. The gross tax revenue registered a YoY growth of 15.5% from April to November 2022, driven by robust growth in the direct
taxes and GST. The gross GST-collection has increased at 24.8% on YoY during the same period. The Union Government's emphasis on
capital expediture (capex) has continued despite higher revenue expenditure requirements during the year. The center's capex has steadil
increased from a long term average of 1.7 percent of GDP (FY09 to FY20) to 2.5% of GDP in FY22 PA. The center has also incentivize
the state governments through interest free loans and enhanced borrowing ceilings to prioritize their spending on capex. Government ha:
boosted allocations on infrastructure intensive sectors such as roads and highways. railways and housing and urban affairs. which has
bearing on capex. This increase in capex will have implication for medium term growth and sustainable government debt to GDP ratio.

In order to further enhance capex. allocation for which of the following infrastructure sector is not increased :

1. Ports and Waterways

2. Roads and Highways

3. Railways

4. Housing and Urban affairs

2 f&u Teriw &1 ufeu iR wal & 3R IfrE: (91-95)

Pifds e & Uid URd WPR $1 Hifgd H1id Tidfehan T SR Ge Td SHavd! R g¢dl Siedsl iR g SR e W 5o
SR SATE] IR BRI 1 Sl ol -ITa=iTd (9307 e 81 59 Hfikad Tifse garai & aave. ¥9 WHR Jedl W dre S g
TTfcifafes 7 gfermfe. goags 1. T SR Hal-HR (Sff T ) T IeRa T Agpeadl SR guic § gyrard) atqam o 9ug 9 99
WHR & Hifse P (a1 T 79 ek 1 TR g9 ©1 T 3 3RSl TF & ¥ SaRed 3fa & Fad 3 I TamR 20229
Y P Iord H a9-23-a9 15.5% D i &0t 5| ST Sfae P SRH FPbd ot T < FrTe=01 & a¥-gz-avf 24.8% P IS g2 &
= oG o7 3 STauIg YSiTTd o0l TR a8 & SR IY TRBR BT 967 SIRI 6T ¢ | % P YoiTd of & TP IR ST | 1.7
ARIRIT & Seiafie i (faira a8 2000 3 faxid g 2020) ¥ fawid 98 20225 TH 0 R SHGE B 2.5% TP Tad =9 3 §gRI §
§1 H% = SO GO B0 UG Db SR GUR ol &1 SUS 9] af $R & o0 WHRI I Hielied (a7 e d GoirTd o8 TR 37
T B ATYHEA 70 PR W | TRBR A UsiFTd o i FHTTd PRl alel Gi-a1a] st S agardm ardl & o I 3R
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GDP growth is the most widely used macroeconomic indicator for adjudicating broad economic progress. The outcomes from decisions
made on the basis of such an indicator have been repeatedly disappointing because of failures to detect resource uses that turn out to be
unsustainable. Adjusted Net Savings (ANS) provides a complementary indicator to help in understanding the changes in wealth and not
per capita wealth, by capturing some of the important policy-induced dynamics. Based on the conventions of the System of National
Accounts (SNA). ANS is measured as Gross National Saving minus depreciation of produced capital, depletion of subsoil assets and
timber resources, and air pollution damages to human health, plus a credit for expenditures on education. If ANS is negative. the county
running down its capital stocks and possibly reducing future material well-being. If ANS is positive the country is adding to wealth and
tuture material well-being. When natural resource depletion is not used to invest in other assets in the wealth portfolio. countries gross
saving might not be enough to compensate this depletion resulting in negative net savings. However, nations with higher GDP are far les
likely to obtain negative ANS. It is argued that. if not a superior indicator of sustainability. ANS is useful to the extent that it can serve a:
an indicator of unsustainability. Henee, the estimates and conceptualization of ANS are not free from limitations.

Adjusted Net Saving (ANS) is

1. a proxy for change in per capita wealth

2. a stock variable

3. a flow variable

4. unable to capture policy-induced dynamics

fAfead T 1 WaUTH gae uiet iR fET 70 94l & IR S :

B UG IS ieg BT AP =0 4 Falie T [dwga side uild & Hoia gq ged onflies Jode & U 3 fearadi g1 U
Tpas & NYR R U 70 ol & e aR-aR SR &34 38 € dife Sare=i & Tan &1 UgdH & Juhadis & oRug
U BT S 8 | SHITd (Hae a9d (U U UH) Aid-quTiad Tiae! & oo Teayul Uyl &1 980 $d gU Hual & uRkad-l @l -
e Ut safdd JUaT BT GHSH H EHdl ® K1Y U R Hebdd Hal Bl ¢ | AP Thal Wl (TH.0A.1,) 1 J=iird Tuisi R
1T Aol & SFER, U TH U9 1 51 96d 81 §=d ¥ Ysiid Sdia & S(aied, 39 H-uRyuRil 3R fcmr d9reH &
308 3iR Aa W@ &1 & U5 el a1 UguUl &1 9eidx SR [R18f 887 <11 &1 Aiford $eb &1 ol g1 J7% T T.09
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=9 &1UrdT &1 Ufagfd B3 B 4301 I Hebel aeid Uit 751 Bl Hebdl & forbeh BIRUT (Has add BN gidl ¢ | T, I Jbe
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GDP growth is the most widely used macroeconomic indicator for adjudicating broad economic progress. The outcomes from decisions
made on the basis of such an indicator have been repeatedly disappointing because of failures to detect resource uses that turn out to be
unsustainable. Adjusted Net Savings (ANS) provides a complementary indicator to help in understanding the changes in wealth and not
per capita wealth, by capturing some of the important policy-induced dynamics. Based on the conventions of the System of National
Accounts (SNA). ANS is measured as Gross National Saving minus depreciation of produced capital, depletion of subsoil assets and
timber resources, and air pollution damages to human health, plus a credit for expenditures on education. If ANS is negative. the county
running down its capital stocks and possibly reducing future material well-being. If ANS is positive the country is adding to wealth and
tuture material well-being. When natural resource depletion is not used to invest in other assets in the wealth portfolio. countries gross
saving might not be enough to compensate this depletion resulting in negative net savings. However, nations with higher GDP are far les
likely to obtain negative ANS. It is argued that. if not a superior indicator of sustainability. ANS is useful to the extent that it can serve a:
an indicator of unsustainability. Henee, the estimates and conceptualization of ANS are not free from limitations.

Which of the following is not the constituent of ANS?

. Public expenditures on education
. Air pollution damage

. Depletion of metals and minerals
. Loss of biodiversity

fAfead T 1 WaUTH gae uiet iR fET 70 94l & IR S :

B UG IS ieg BT AP =0 4 Falie T [dwga side uild & Hoia gq ged onflies Jode & U 3 fearadi g1 U
Tpas & NYR R U 70 ol & e aR-aR SR &34 38 € dife Sare=i & Tan &1 UgdH & Juhadis & oRug
U BT S 8 | SHITd (Hae a9d (U U UH) Aid-quTiad Tiae! & oo Teayul Uyl &1 980 $d gU Hual & uRkad-l @l -
e Ut safdd JUaT BT GHSH H EHdl ® K1Y U R Hebdd Hal Bl ¢ | AP Thal Wl (TH.0A.1,) 1 J=iird Tuisi R
1T Aol & SFER, U TH U9 1 51 96d 81 §=d ¥ Ysiid Sdia & S(aied, 39 H-uRyuRil 3R fcmr d9reH &
308 3iR Aa W@ &1 & U5 el a1 UguUl &1 9eidx SR [R18f 887 <11 &1 Aiford $eb &1 ol g1 J7% T T.09
FUNED & ol 4 BT Yol HSR HH Bl X6l & SR THad: Hd! H1Te Searul 2 €271 361 81 ofF T TH TF 1S § ol o% &1 49T
IR 1ifie Hearol ST HaeH §id1 3| Ofd Ml 1 0l 1 Hual Giewhierd] & 37 uRuRml § Faw =1 fear s g o
=9 &1UrdT &1 Ufagfd B3 B 4301 I Hebel aeid Uit 751 Bl Hebdl & forbeh BIRUT (Has add BN gidl ¢ | T, I Jbe
TR ITE AT oI H FUTES U U U UG B2 51 UG BH gldl ¢ | Ig dob 101 11 ¢ (o 3l gaddl & dbad 3= 78l o
. TF. U9 3uufiadr & U Y & 9 # SUani g 3id: TH. TH. & A1 3R YeheuT FHmfor Jmrsil 3 gaa ¢ €
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GDP growth is the most widely used macroeconomic indicator for adjudicating broad economic progress. The outcomes from decisions
made on the basis of such an indicator have been repeatedly disappointing because of failures to detect resource uses that turn out to be
unsustainable. Adjusted Net Savings (ANS) provides a complementary indicator to help in understanding the changes in wealth and not
per capita wealth, by capturing some of the important policy-induced dynamics. Based on the conventions of the System of National
Accounts (SNA). ANS is measured as Gross National Saving minus depreciation of produced capital, depletion of subsoil assets and
timber resources, and air pollution damages to human health, plus a credit for expenditures on education. If ANS is negative. the county
running down its capital stocks and possibly reducing future material well-being. If ANS is positive the country is adding to wealth and
tuture material well-being. When natural resource depletion is not used to invest in other assets in the wealth portfolio. countries gross
saving might not be enough to compensate this depletion resulting in negative net savings. However, nations with higher GDP are far les
likely to obtain negative ANS. It is argued that. if not a superior indicator of sustainability. ANS is useful to the extent that it can serve a:
an indicator of unsustainability. Henee, the estimates and conceptualization of ANS are not free from limitations.

Which of the following explains the decline in ANS in countries with increasing GDP per capita?

1. Increasing proportion of private investment in an economy

2. Depleted assets not offset by sufficient investment in human and physical capital
Increasing gross saving rates

Increasing production of renewable natural capital

fAfead T 1 WaUTH gae uiet iR fET 70 94l & IR S :

B UG IS ieg BT AP =0 4 Falie T [dwga side uild & Hoia gq ged onflies Jode & U 3 fearadi g1 U
Tpas & NYR R U 70 ol & e aR-aR SR &34 38 € dife Sare=i & Tan &1 UgdH & Juhadis & oRug
mﬂvﬂas‘raﬁ%WW%W@ERWUWW%@WWMﬁWW@WﬁWﬁ-
e Ut safdd JUaT BT GHSH H EHdl ® K1Y U R Hebdd Hal Bl ¢ | AP Thal Wl (TH.0A.1,) 1 J=iird Tuisi R
31T faftrdl & SFI¥R. U T TF &1 H10 Jebel AP S=id J YilTd Scie & Sfayed. 39U 4 uRyuidl 3R forR dame &
3{Uefd SR HId WA P &ffdd TgI alel arg HEuUl B gelpe 37 [RI&fl 09U SHI Bl Alfoid B 1 dl &1 4fe T T1.0
FUNED & ol 4 BT Yol HSR HH Bl X6l & SR THad: Hd! H1Te Searul 2 €271 361 81 ofF T TH TF 1S § ol o% &1 49T
IR 1ifie Hearol ST HaeH §id1 3| Ofd Ml 1 0l 1 Hual Giewhierd] & 37 uRuRml § Faw =1 fear s g o
=9 &1UrdT &1 Ufagfd B3 B 4301 I Hebel aeid Uit 751 Bl Hebdl & forbeh BIRUT (Has add BN gidl ¢ | T, I Jbe
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GDP growth is the most widely used macroeconomic indicator for adjudicating broad economic progress. The outcomes from decisions
made on the basis of such an indicator have been repeatedly disappointing because of failures to detect resource uses that turn out to be
unsustainable. Adjusted Net Savings (ANS) provides a complementary indicator to help in understanding the changes in wealth and not
per capita wealth, by capturing some of the important policy-induced dynamics. Based on the conventions of the System of National
Accounts (SNA). ANS is measured as Gross National Saving minus depreciation of produced capital, depletion of subsoil assets and
timber resources, and air pollution damages to human health, plus a credit for expenditures on education. If ANS is negative. the county
running down its capital stocks and possibly reducing future material well-being. If ANS is positive the country is adding to wealth and
tuture material well-being. When natural resource depletion is not used to invest in other assets in the wealth portfolio. countries gross
saving might not be enough to compensate this depletion resulting in negative net savings. However, nations with higher GDP are far les
likely to obtain negative ANS. It is argued that. if not a superior indicator of sustainability. ANS is useful to the extent that it can serve a:
an indicator of unsustainability. Henee, the estimates and conceptualization of ANS are not free from limitations.

Which of the following reflects the shortcomings of ANS?

It allows substitution between different forms of capital.
Tt is not a comprehensive indicator of per capita wealth.
It is influenced by the level of GDP of an economy.

All of the above
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GDP growth is the most widely used macroeconomic indicator for adjudicating broad economic progress. The outcomes from decisions
made on the basis of such an indicator have been repeatedly disappointing because of failures to detect resource uses that turn out to be
unsustainable. Adjusted Net Savings (ANS) provides a complementary indicator to help in understanding the changes in wealth and not
per capita wealth, by capturing some of the important policy-induced dynamics. Based on the conventions of the System of National
Accounts (SNA). ANS is measured as Gross National Saving minus depreciation of produced capital, depletion of subsoil assets and
timber resources, and air pollution damages to human health, plus a credit for expenditures on education. If ANS is negative. the county
running down its capital stocks and possibly reducing future material well-being. If ANS is positive the country is adding to wealth and
tuture material well-being. When natural resource depletion is not used to invest in other assets in the wealth portfolio. countries gross
saving might not be enough to compensate this depletion resulting in negative net savings. However, nations with higher GDP are far les
likely to obtain negative ANS. It is argued that. if not a superior indicator of sustainability. ANS is useful to the extent that it can serve a:
an indicator of unsustainability. Henee, the estimates and conceptualization of ANS are not free from limitations.

The concept of ANS should at best be used to

guide ecologically optimal sustainable scale
serve as an indicator of unsustainability

replace GDP as a measure of economic progress
None of the above
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